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000000 CentOS-5.2-i1386-bin-DVD.iso O 0 [ O [
OSHELLO OO O0OIsO00 00O [root@xx ~]# mount -o loop
/mnt/iso/CentOS-5.2-1386-bin-DVD/CentOS-5.2-1386-bin-DVD.i
so /media [root@xx ~]#Is /media -l OJ [0 462 drwxr-xr-x 2 root
root 397312 06-19 23:23 CentOS -rw-rr 7 root root 212 06-15 06:32
EULA -rw-rr 7 root root 18009 06-15 06:32 GPL drwxr-xr-x 4 root
root 2048 06-19 23:22 images drwxr-xr-x 2 root root 2048 06-19
23.051solinux (U OO O0)ODODO0OOOO0OOOOO O loop device
DO00000000 [root@xx ~]#Is /dev |grep loop loop0
loopl loop2 loop3 loop4 loop5 loop6 loop7 O U 0O O O 0O O OO
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[ 0O 0O 0O O loop device [root@xx ~]# losetup -a /dev/loopO:
[0805]:1245190
(/mnt/iso/CentOS-5.2-1386-bin-DVD/CentOS-5.2-i1386-bin-DVD.
1so) (L ),/dev/izero,0 D00 0OO0OOOOOOOOOOON
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O Ofiled OO OO [root@xx ~]# dd if=/dev/zero of=hd.img
bs=1k count=10000 10000 0 records in 10000 0 records out
10240000 bytes (10 MB) copied, 0.0853896 seconds, 120 MB/s
[root@xx ~]# file hd.img hd.img: data U fileJ [0 hd.imgd O O [
OO0O0000Oloopdevicel D OOOOOOOO losetup
/dev/loopl hd.img [root@xx ~]# losetup -a /dev/loop0:
[0805]:1245190
(/mnt/iso/CentOS-5.2-1386-bin-DVD/CentOS-5.2-1386-bin-DVD.
150) /dev/loopl: [fd00]:2586037 (hd.img) LI [ [0 hd.img O [

[ loopl,]
CentOS-5.2-1386-bin-DVD/CentOS-5.2-1386-bin-DVD.iso] [

O loop0, 0 00O 0O 00O O /dev/loopl O U O hd.imgd O O
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I [root@xx ~]# fdisk /dev/loopl Device contains neither a valid
DQOS partition table, nor Sun, SGI or OSF disklabel Building a new
DOS disklabel. Changes will remain in memory only, until you
decide to write them. After that, of course, the previous content won
' tberecoverable. Warning: invalid flag 0x 0000 of partition table 4
will be corrected by w(rite) Command (m for help): [I fdisk(d [ [J
OO000000000000dfiled Ohdimgd OO [root@xx
~]# mkfs -t ext2 /dev/loopl mke2fs 1.39 (29-May-2006) Filesystem
label= OS type: Linux Block size=1024 (log=0) Fragment size=1024
(log=0) 2512 inodes, 10000 blocks 500 blocks (5.00%) reserved for
the super user First data block=1 Maximum filesystem
blocks=10485760 2 block groups 8192 blocks per group, 8192



fragments per group 1256 inodes per group Superblock backups
stored on blocks: 8193 Writing inode tables: done Writing
superblocks and filesystem accounting information: done This
filesystem will be automatically checked every 33 mounts or 180
days, whichever comes first. Use tune2fs -c or -i to override.
[root@xx ~]# file hd.img hd.img: Linux rev 1.0 ext2 filesystem data
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[ catl] U c.cd O O O O [root@xx ~]# cat c.cmain() {} LI O O [
OOo000/dev/ullOOOODODOODOOOOOOSHELLO O
[root@xx ~]# cat c.c &gt. /dev/null [root@xx ~]# 0 O 0O 0O O 0O O
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